~ i ‘ i ~ I ~ \ 4 : 1 ~ | - i

¥u deawings 3-6-06\ARR-0-GS33-S0%Ldgn

1

3:48:23 PH SNANES

ks\aur or aop
3716720086
BEFSE

OBSTRUCTION L IGHT PER DETAIL "17.
DWG ARR-D-GS33-EO1 3/8"~16 X 1 1/2” S.S. HEX BOLT

NOTES:

1. ANTENNA TOWER {EG TO WHICH GROUNDING ASSEMBLY IS BONDED, SHALL BE TACK-WELDED AT THE BOLTED CONNECTIONS
TO PROVIDE ELECTRICAL CONTINUITY BETWEEN THE TOWER SECTIONS.

2. THE LADDER SHALL BE INSTALLED ON RIGHT SIDE OF ANTENNA TOWER WHEN LOOKING TOWARD RUNWAY THRESHOLD,
SE‘NNEERAL_#EC?_‘EDLADDER SHALL BE COINCIDENT WITH THE CENTERLINE QOF THE ANTENNA TOWER FACE TO WHICH IT IS

LOCK CHANNEL (TYP[CAL}
AIR TERMINAL PER
DWG ARR-D-GS33~EO1 ANTENNA MOUNTING CHANNEL -y

x(4

S’ ORANGE TOP SECTION.
0TE 7

SEE NOTE 70— |
Il

=7
Ny
</ THOMPSON #32 3. THE CONTRACTOR SHALL INSTALL ANTENNA BRACKET ASSEMBLIES (3 REQURED) AT HEIGHTS SHOWN PER DETAIL .
/ DOWN CONDUCTOR
~— 4 I 3/B” $.5. LOCK WASHER HORIZONTAL ITEMS SHALL BE LEVEL AND VERTICAL ITEMS SHALL BE PLUMB.
- N £| f 3/B“-16 5.5. HEX NUT 4, TOWER SHALL BE ASSEMBLED WITH ALTERNATING ORANGE AND WHITE COLORED SECTIONS.
S
3 ';'45": ]\ 5. CONTRACTOR SHALL ERECT TOWER TO FULL 50 HEIGHT. ANTENNA ELEMENT LOCATIONS WILL BE ADJUSTED BY FAA
S A NTING INSTALLATION PERSONNEL TO ACHEVE BEST SIGNAL GENERATION. CONTRACTOR SHOLLD INCLUDE IN THE BID A SEPARATE
Do S ANTENNA MOUNT I AN TENATIVE COST ESTMATE TO RETURN TO THE SITE AND SHORTEN THE TOWER TO 5"-0" MAXIMUM HEIGHT ABOVE
T FRAME SECTION CENTERLINE OF TOP ANTENNA ELEMENT. THIS WiLL REQUIRE THE CONTRACTOR TO CUT ANTENNA TOWER STRUCTURE,
LA LADDER, AND SAFETY CLIMB RAI AND RELOCATE AIR TERMINAL, DOWN CONDUCTOR, AND OBSTRUCTION LIGHT TO TOP
hpﬂ.’" 3/8" $.5. LOCK OF SHORTENED TOWER. TOWER LEGS SHALL BE CAPPED WITH PIPE CAPS WELDED OR THREADED IN PLACE. NON-CONTINUOUS
ll_. WASHER CROSS-BRACING SHALL BE CUT AT ITS ORIGIN,
|' 3/8°-16 S.S. 6. FIELD-DRILL 3/8 DIAM. HOLE IN ANTENNA MOUNTING FRAME, SCRAPE PAINT FROM BONDING AREA AND INSTALL GROUNDING
j \ HEX NUT LUG AND #6 BARE COPPER GROUNDING WIRE. CONNEGT #6 BARE TO ANTENNA TOWER STRUCTURE USING GROUNDING CLAMP.
TOWER LEG CONNECTION 2 1. T MENT- ITEMS PROV THE FAA,
PR DA R AR "6 SEE THE GOVERNMENT-FURNISHED PROPERTY LIST FOR ITEMS PROVIDED BY THE FA
) <y S
)
N
3 GROUND ING_LUG
; PER NOTE 6 S
5' ORANGE SECTION. ‘ GALVANIZED STEEL
SEE NOTE 7. ] #6 BARE COPPER ANTENNA TOWER LEG LADDER. SEE NOTE 2.
> GROUNDING WIRE {ONLY ONE LEG SHOWN —
% | e T
491 ANTENNA TOWER GALVANIZED SAFETY t L
S 4}( 4 CROSS-BRACE CLIMG RAJL PER
- ANTENNA MOUNTING FRAME ‘q‘f ANTENNA MOUNTING FRAME DETAILS “3“ AND "4”, i
~ e ! GROUND ING_CLAMP.
o T !\‘ | SEE NOTE 6.
z N — |
N ANTENNA — < [ )
~ BRACKET § - L‘.'” ANTENNA ELEMENT 3~ U-BOLT_CLAMP.
n Néf L CTYPICAL OF THREE) 3 8L RPILAL CNOEA BRAcE
w — -
= ) e
g "1'-.'{1|«||".‘/\~; ' /
w -
B %§Mﬁﬁi"
= Lad “l -
o o~ v ANTENNA MOUNT ING CHANNEL ’
® g =3 SUPPORT ANGLE (TYP[CAL
S OF TWD PER LEG) PLAN
~ S T
; 3/8% S.S. LOCK WASHER
1l .
20° ORANGE/WHITE _ ] r GALVANIZED SAFETY CLIMB RAIL
g SECTION. SEE NOTE 7. “\‘3 3/8°-16 S.5. HEX NUT BRI DETATLS 255 anp-r4n,RAl
= P’
wl N
»n ~
) ::‘ ﬁ} 172" GALVANIZED U-BOLT
* z
? ] e~
qf o N ANTENNA ELEMENT MOUNTING BRACKET I
T % )
e & AND ANTENNA TOWER NNECTION ]
=T N DETAIL ' !
o] T - ‘u > b | ANTENNA TOWER CROSS-BRACE
b4 — \\% -" @4 iE ANTE'}NASEIEESE"I"X i TI’;!.C:‘«W SCALE: NONE | \
S ;:’""";4% Y MOUNTING DETAILS. CALVANIZEQ STEEL
§ I~ -~ &S l? LADDER. SEE NDTE 2.
w --‘.ﬁ'//¢ —— RAIL CARRIER ’
o~ - “ 3 g A<
~ ..b__'—,,‘” Q‘é’"\' SPLICE PLATE 1]
g Al 1 Tove Lo ELEVATION
o N gy g ) ) LADDER ATTACHMENT TO ANTENNA TOWER
: > srieTe X i o0t AT T
w
g & DETAIL
w N SCALE? NONE
. TE_BOTTOM i
Bl B er o oSt ot T )‘ _~——ANTENNA HEATER AND OBSTRUCT [ON
NS\ kA Lchar CaRc R bhnot? SRR Do
: NI ARR=0-GS33-E01 TYPICA AFETY M
4 i L SPLICE Jo]
. Pl RA P NT
: N[/
IN
<3¢/ DETAIL SEE NOTE 1
ol SCALE® NONE
WIN
GALVAN] K WASHER
—__| : 7[ RAIL CARRIER —] ZED LOCK wAS SHEET 48 OF 66
— 1% GALVANIZED 7/8"-9 HEX NUT DEPARTMENT OF TRANSPORTATION
)‘ g FEDERAL AVIATION ADMINISTRATION
22 GREAT LAKES REGION CHICAGO, ILLINOIY
il 3/8“~16 HEX NUT 3
- > D CONCRETE FOUNDATION (TYPICAL) TOWER LEG GLIDE SLOPE
el PER DWG ARR-D-G$33-CO1 o
\I 3/8°-16 X 37 TAP BOLT DETAIL
" oA T NG ANTENNA TOWER ASSEMBLY DETAILS
. LADDER RUNG CLAMP LE3
‘M TYP A AF TY M AURORA AURORA MUNICIPAL AIRPORT IL
50’ GLIDE SLOPE ANTENNA TOWER RA A RUN pep—— TN TFPROVED BV
DETAIL
DETAIL FROJ ENGR, TIWOTHY TTER PLATFORM WIGR, CLELAND WICHEEL
SCALE: NONE GESIGNED TSSUED BY GATE N
SCALE: NONE ™ 02/21/2006_|
RAWN CHICAGO NAS frmgie™Ro RV
e A0} MPLEMENTATION
ey omie DESCRIPTION Jon O v CHECKED £os CENTER ARR-D-GS33-501

a 1 A ' . . T elere



